K73-216

METAJITOMJNIEHOYHbIE
NONMUITUNEHTEPE®TAJIATHbIE KOHOEHCATOPDI

METALLIZED POLYESTER FILM CAPACITORS

TexHuueckue ycnosusa: AlK. 673633.021 TY

npe,D,Ha3Ha‘-IeHbl AnA nogaBrieHNA pagnonomex

B AnanasoHe yactot ot 0,1 ... 100 MIy.

KoHcTpykumsa: 06epHyTbl NMNKON NEHTOW, 3anuThbl

no Topuam 3noKCMAHbIM KOMMNayHOOM.
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HomunHanbHasi eMKoCTb 0,1 .... 10 Mk®

HoMuHanbHoe HanpsixeHve

HomuHanbHbIN TOK

[lonyckaemoe OTKIMOHEHVEe eMKOCTH
TaHreHc yrna notepb npu f =1 kl'y

COI'IpOTVIBJ'IeHVIe n3onauum ona

CHowm < 0,33 MKkD

MocTosiHHasi BpeMeHun Ans
Chom > 0,33 Mkd
anst Unom = 50 B
ans Uxsom = 160 ... 500 B

WHTepBan pabouvx Temneparyp

Hapab6oTtka
Cpok coxpaHsemMmocTun

Knumatuyeckoe ncnonHeHne

50_; 160_; 250_/127-~;
500_ /250~ B

4,6.3;10 A

230 000 MOm

24000 MOM-MKD
210 000 MOM-MkD

-60...+100°C

15000 4

20 net

YXIT (93+3% oTHOCUT.
BNaxHocTu npu 40+2°C,
21 cyTKm)

O6o3HauyeHune nNpu 3aKkase:
KongeHcaTop K73-216 - 500B./250B-~- 10 A -

- 1MKD £20% - NeTY

+10; +20 %

<0,012

Specifications: A[lK. 673633.021 TY

Designed for interference suppression at

frequency 0,1 ... 100 MHz.

Design:

wrapped  with

adhesive tape;

capacitor ends sealed with epoxy compound.
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Rated capacitance

Rated voltage

Rated current
Capacitance tolerance
Dissipation factor at f = 1 kHz

Insulation resistance at
Cr<0,33 pF

Time constant at
Cr>0,33 yF
Ur=50V
Ur=160 ... 500 V

Operating temperature range

Operating time
Shelf life

Climatic categories

Ordering example:

0,1...10 yF

50_; 160_; 250_/127-;
500_ /250~ V

4,6.3; 10 A
+10; 20 %

<0,012

230 000 MOhm

24000 MOhm-pF
210 000 MOhm-puF

-60...+100°C

15 000 hours
20 years

RH 93+3%, 40+2°C,
21 days

Capacitor K73-216 - 500V./250V~ - 10 A -

- 1uF £20% - NeTY
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Unew_, B Usow, Une, Cuow, MKD lows A Pasmepbl, Mm Dimensions, mm I\Iclacca, r
u_V Veff (50Hz) C. WF I, A Lmax Bumax Hmax ‘;’ns:x g
0.47 15 5 12 3
0.68 19 4 13 3
1.0 4.0 19 5 14 4
1.5 19 6.7 16 5
50 - 2.2 26 6 18 6
3.3 26 7.5 20 7
4.7 6.3 33 6.7 24 9
6.8 33 71 26 11
10 33 10 28 15
0.33 19 5 14 4
0.47 4.0 19 6 16 5
0.68 19 71 18 6
160 i 1.0 26 7.1 19 7
1.5 6.3 26 8 22 9
2.2 33 8.5 22 11
0.10 15 5 12 3
0.15 40 15 6 14 3
0.22 19 5 14 4
0.33 19 6 15 5
250 127 0.47 26 6.1 15 6
0.68 26 6.7 17 7
1.0 6.3 33 6.7 18 8
15 33 8 21 9
2.2 33 10 24 12
0.10 28 5.5 17 5
0.15 6.3 28 6.7 19 7
0.22 ' 28 7.5 20 8
0.33 28 8.5 22 9
500 250 0.47 39 71 25 11
0.68 39 8.5 28 15
1.0 10 45 9.5 30 25
1.5 45 13 34 32
2.2 45 16.5 36 40
3aBncnMocTb Jonyckaemoro HanpsikeHust U, oT TemnepaTypbl OKpyatoLlen cpeapl
Permissible voltage U; as a function of ambient temperature
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3aB1CKMMOCTb AonyckaeMoro Toka Iy oT TemnepaTypbl OKpyXatoLien cpeabl
Permissible current I; as a function of ambient temperature
%
T 100
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3aBNCUMOCTbL BHOCMMOTO 3aTyxaHust A oT YacToThl f 4na kKoHgeHcaTopoB BapuaHTa “6”
(n3mepeHne No HeCUMMETPUYHON CXeMe C HOMUHaINbHbLIM BXOAHbLIM conpoTusneHvem 50 Om)

Insertion loss A as a function of frequency f for the capacitors with index “6”
(measured by the use of asymmetric circuit with rated input resistance 50 Ohm)
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1-Cuom =0,1-0,15 mx@®@ 2 - Cuom = 0,22-0,33 mx® 3 - Crom = 0,47-0,68 mx®D
4 - Cuom = 1,0-1,5 mx® 5 - Cuom = 2,2-3,3 Mmx® 6 - Cnom =4,7-6,8 mx®
7 - Cuom = 10 mx®

1-Cr=0,1-0,15 uF 2 - Cr=0,22-0,33 uF 3 - Cr=0,47-0,68 uF 4 - Cr=1,0-1,5 uF
5-Cr=22-33uF 6-Cr=4,7-68uF  7-Cr=10uF

3aBMCMMOCTb J0MNycKaemor amnnuTyabl NePeMEHHOT0 CUHYCOMAANbHOTO HaMPSHKEeHWUS UK JonyckaeMon
amMnnnTyabl NePEMEHHON CUHYCOMAanNbHOW COCTaBNSIOLWEN MYNbCUPYIOLLErO HANPSPKEHUS OT YacToThbl f
Permissible amplitude of AC sinusoidal voltage or working amplitude of AC sinusoidal component of ripple

voltage as a function of frequency f
Unom, B
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Ilpumep onpenenenus Ui nauo: f=3-10’I'n, Co=1LSMED, U, =250 /127 B Omnpeneasem: U=110B

Example of calculation of U;: given: f=3-102Hz, C =1,5pF, U =250_/127 V Finding: U~=110V
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